£8 METEANIBH. KXEBRUVMEGRHATEF — KHE (FAi24%F)

(BEEHIALLL)
BTE IHEHM | KEXEH |HERBFESE BTH THEH | KEEH | HERERESE
(T8 (A) (FH) (Ti5) (A) (FH)
AHFE —TH 5 172 430,184t A —TH 5 27 37,408
X#&#®E —TH 12 259 444308[fh £ — T H 1 34 x
X#E =TH 7 56 79961 & —TH 2 43 x
AHZEHE MTH 12 106 124885|lf &£ =T H 9 186 346,165
A#HFE ETH 12 89 102,993||9F &£ ™ TH 2 42 x
K#HFm —TEH 21 209 186850|fF &= H T H 1 5 X
Xx#&™m —TBH 31 285 362,367|F R AT H 2 23 x
AX#HFm =TBH 19 186 253500 & £ TH 5 50 83,755
A#HEE MTH 38 400 880,027|%fF & J\TH 17 186 178,562
AX#HFm RTH 17 153 204112 £ — T B 3 48 70,477
A&EHR —TEH 11 98 155616/t £ = T H 6 44 51,046
Xx#&HR —TH 5 165 225557|itt £ = T B 7 87 163,621
AX#HFEF =TH 7 58 88908litt £ MW T H 1 7 x
AX#HEMA —TH 28 480 1447649 £ H T B 4 68 109,845
K#&EME —TH 24 338 390864ith £ R T H - - -
K#HME =ZTH 12 305 874761l £ £ T H 1 28 x
A#HFMB MWTH 26 591 1,181899itn £ J\ T B 8 103 122,105
A#HEME RETH 10 89 99134|;RE8& —TBH 2 231 X
A#HEWE ANTH 1 6 mRESE ZTH 98 2,117 5,940,095
A#HEMA £TH 13 527 1,397298|E8 =TH 6 97 710,823
XK#EdL —TH 2 17 & & —TB8H - - -
A#FEd ZTH 1 4 E & ZTH - - -
XK#ELE =TH 4 28 56504|%% & =T H 1 10
A#Ed WTH 1 4 XE & mMTH - - -
K#HFId HATH 6 118 145459||5R # H T B - - -
K#HEd ATH 5 52 128,322l & AN T H 1 94 X
AHZEAE—TH 4 48 159,268l M & — T B 3 41 473,087
AHZABZTH 3 25 21560k EE 8 —TH 41 944 2,413,026
e —TH - - -HmEe =TH - - -
EHME ZTH - - e mTH 11 213 495,331
EME =TH - - -HiEe ATH - - -
EME MWTH - - -|EmeE ATH - - -
EME ATH - - -HiEes £tTH - - -
EHME ATH - - -IX & # X &t 635 10,518 25,535,724
Bis —TH 7 155 532,247|[= e ) 1 9 x
Bi#ME —TH 8 178 689,689|[78 e i 1 5 X
W ¥ —TBH - - -3t e i 4 24 69,750
W F¥F ZTEH 2 10 X|BH B F ™ 4 50 34,929
W ¥ =TBH 4 54 54,927(|E B A 7 A HT 1 5 X
W ¥ W®TEH 1 44 |EHEEHA—TH 2 21 X
THOHELE - - -|BEREAE=TH - - -
REA —TEH 6 51 51203|HEFHHA=TH - - -
HEA —TH 1 12 x|HE AT B - - -
mEA —TH 4 29 25178|HEFHHAETH 2 52 X
mEXA ZTH 3 23 20320 & K ¥ HI 1 5 X
mEA =TH 3 25 32845 e DK —TH 1 7 X
mEA WMTH - - oKX ZTH 5 24 25,222
EmEXA ATH 1 5 DK =TH 5 37 50,140
mEA KTH 3 35 59534((F & — T H 7 75 83,329
b EA —TH 1 4 N+ & ZTBH 21 325 583,066
hEA ZTH 3 47 64322+ & =TBH 5 23 30,190
FEA =TH 5 104 107,765||F AN ER—T B 1 10 X
mEA —TH 4 63 92849|FEAMNRE_=_TH 3 25 29,148
BEX —TH 3 29 52690/ A AR —TH 1 12 X
LtE2 —TH 2 54 JAARE ZTH 12 212 403,929
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BTE IHEH | KEXEH |HERBFESE BTH THEH | KEEH | HERHRESE
(T18) (A) (BFA) (Ti5) (A) (FH)

ANE =TH - - & % —TH 5 29 19,548
ANE MTH - - H#E & =ZTBH 5 68 106,186
ANE HTH 6 118 132441\ & =T H 12 216 304,423
ANE ANTH - - —[EAE —TH 7 89 133,654
mTHR —TH 5 51 56,391\ /<% —TH 6 42 55,279
mF*TER ZTH - - EAE =TH 13 286 218,756
mTER =TH - - —[FESNE —TH 11 141 206,296
ttF®E —TH - - [FESNE ZTH 17 171 352,819
dtF+ER ZTH 1 28 XA =TH 16 209 350,607
dtF+ER =TH 2 18 XFEAHE mTHE 22 307 431,395
AJIIET —TH - - —F/E —TH 23 258 433,502
HJIET ZTH - - A ZTH 22 252 335,416
it —TH 22 223 290,351|[@ < =TH 29 444 690,284
fhih £ = TH 21 358 590,044|[iF /N — T B 13 85 75,456
HEAN —TBH 1 24 XA —TH 6 64 187,436
REA —TH - - A =TH 4 38 35,596
HESN =ZTH - - /< BT B 9 85 89,416
HEA ®TH 2 8 FTHF —TH 18 197 256,463
HEA RETH 2 25 FTHF ZTH 35 769 1,452,798
BmES —TH - - HFTAaF =TH 3 19 23,459
EmES Z—TH - - |FTHF mTH 10 151 305,838
MESX =TH - - Hx o —T8H 19 295 401,511
HEA WTH 1 14 £ O —TH 30 346 548,998
EMEA ETH 4 31 24552l O =TH 30 853 1,377,513
& —TH 3 31 7149|m%& 0 —TH 2 9 X
thwas ZTH - - ExO =ZTH 3 25 32,728
& =TH 9 61 145,153||lR%&< 0 =TH 4 35 39,168
tt& MTH 2 17 X|ZE)Il —TB8H 13 122 166,274
s RTH 9 88 122,861(Z B )Il — T B 28 597 1,038,457
oo X OBt 167 2,016 3,449,058|FREMH — T H 2 14 X
Bt —TH 23 395 743226\ EH — T B 14 120 104,551
Hitn —TH 8 268 483972|FEEH — T H 5 35 26,511
Hfta =TH 10 165 369454 H —TH 20 144 178,549
H#tHN mWTH 19 279 429985\ H =T H 9 73 95,680
BN RETH 31 376 872417||FEEH —TH 3 18 28,360
Bt ANTH 26 525 1,768,648\ H — T B 2 25 X
mfts —TH 6 59 63,325\ H =T H 3 31 31,693
i S i =| 19 193 337,205|(FE S MMTH 1 5 X
wmits =TH 17 192 312920(FEHH HETH 2 38 X
wmitN mWTH 7 125 298,803|(FEEHE AN TH 2 15 X
¥t —TH 24 237 340531|[FEEME £ TH - - -
t¥ts =ZTH 12 186 3642807 E J\TH 1 21 X
N OB B A 4 44 76,9365 H — T H 8 147 153,629
¥ H —TBH 12 93 127900[F B Z— T H 1 6 X
P BH —TH 4 19 19745 B =T B 5 39 33,077
¥ H =TBH 2 11 X% B m©TH 5 24 30,310
¥ H mTH 9 81 65633F B HTH 3 54 40,869
¥ B ATH 4 23 31196 EEHABT—TH 3 59 135,432
F BH KTBH 3 32 39,790 HABIZTH 1 6 X
A¥HE —TH 24 256 480,669(l#T M — T H 3 14 4,964
AFHE ZTH 33 312 375019|#T M —TH 4 36 32,480
APH =ZTH 7 113 440323\ H =TH 9 90 112,384
PHEHE—TH 1 14 X B #h X 5t 826 11,214 18,976,933
PHEE_TH - - -
FHZEE=TH - - & it 1,628 23,748 47,961,715
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